RESOLUTION NO. R15-44

A RESOLUTION ACCEPTING THE BID AND AUTHORIZING THE MAYOR TO SIGN A CONTRACT WITH WILSON BROTHERS CONSTRUCTION FOR THE 2015 WATER AND STREET REHAB PROJECT.

WHEREAS, the City of Laurel complied with its procurement policy and Montana Law by seeking competitive bids or quotes to ensure the selected company will complete the 2015 Water & Street Rehab Project in the City's best interest; and

WHEREAS, Wilson Bros. Construction was the lowest qualified bidder; and

WHEREAS, the lowest bid was for \$1,288,785.00.

NOW, THEREFORE, BE IT RESOLVED by the City Council of the City of Laurel, Montana.

That the Mayor is authorized to negotiate and sign the contract with Wilson Bros. Construction for the 2015 Water & Street Rehab Project.

Introduced at a regular meeting of the City Council on June 2, 2015, by Council Member Nelson

PASSED and APPROVED by the City Council of the City of Laurel this 2nd day of June, 2015.

APPROVED by the Mayor this 2nd day of June, 2015.

CITY OF LAUREL

Mark A. Mace, Mayor

ATTEST:

Shirley Ewan, Clerk/Treasurer

Approved as to form:

Sam S. Painter, Civil City Attorney

BILLINGS 115 N. Broadway Suite 500 Billings, MT 59101 406.652.5000 Fax 406.248.1363



May 20, 2015

Kurt Markegard, Public Works Director City of Laurel P.O. Box 10 Laurel, MT 59044

Re: Task Order No. 34 – 2015 Water & Street Rehab Project Laurel Engineering Services On-Call Great West Engineering, Inc. Project No. 2-07128

Dear Kurt:

The Bid Opening for the referenced project was held Wednesday, May 20, 2015, and Wilson Bros. Construction is the low bidder with a total bid of \$1,288,785.00. Their bid is less than the Engineer's Estimate for the project and within the City's budget for the work. I have enclosed a copy of the certified bid tabulations for your reference.

Wilson Bros. Construction has completed several similar projects within the City of Laurel and City of Red Lodge, exhibiting the ability to perform the work included in the project.

Based upon these factors, I formally recommend the City of Laurel award the 2015 Water and Street Rehabilitation Project to Wilson Bros. Construction, Inc.

As always, feel free to contact us with any questions.

Sincerely,

Great West Engineering, Inc.

Chad Hanson, P.E.

Project Engineer

Encl.: Certified Bid Tabulations

HELENA PO Box 4817 2501 Belt View Drive Helena, MT 59604 406.449.8627 Fax 406.449.8631

[Engineer's Estimate		Wilson Bros. Construction, Inc.	
	Item	Quantity	Unit	Unit Price	Cost	Unit Price	Cost
101	Mobilization	1	LSM	\$88,600	\$88,600.00	\$72,000.00	\$72,000.00
102	Traffic Control	1	LSM	\$25,000	\$25,000.00	\$14,500.00	\$14,500.00
103	Exploratory Excavation	5	HR	\$250	\$1,250.00	\$750.00	\$3,750.00
104	imported Backfill	50	CY	\$35	\$1,750.00	\$28.50	\$1,425.00
105	8" PVC Water Main DR-18	1,300	LF	\$60	\$78,000.00 \$3,900.00	\$50.00 \$40.00	\$65,000.00 \$2,400.00
106	6" PVC Water Main DR-18	60 4	LF EA	\$65 \$1,500	\$6,000.00	\$2,500.00	\$10,000.00
107 108	8" Gate Vaive with Valve Box 8" Tee	1	EA	\$1,500 \$550	\$550.00	\$700.00	\$700.00
109	8" x 6" Tee	2	EA	\$550	\$1,100.00	\$550.00	\$1,100.00
110		2	EA	\$750	\$1,500.00	\$500.00	\$1,000.00
111	8" x 6" Reducer	1	EA	\$500	\$500.00	\$500.00	\$500.00
1		3	EA	\$1,250	\$3,750.00	\$1,500.00	\$4,500.00
113	Connect to Existing Water Main 6"	1	EA	\$1,150	\$1,150.00	\$1,200.00	\$1,200.00
114	6" Fire Hydrant w/Auxiliary Gate Valve	2	EA	\$6,500	\$13,000.00	\$6,500.00	\$13,000.00
115	Remove Existing Fire Hydrant	1	EA	\$1,800	\$1,800.00	\$800.00	\$800.00
116		1	LSM	\$6,500	\$6,500.00	\$4,000.00	\$4,000.00 \$8,375.00
	Copper Water Service Line	335	LF	\$30 \$575	\$10,050.00 \$10,925.00	\$25.00 \$250.00	\$4,750.00
118	•	19 10	EA EA	\$575 \$800	\$8,000.00	\$300.00	\$3,000.00
119 120	, .	10	EA	\$250	\$2,500.00	\$500.00	\$5,000.00
121	, ,	3	EA	\$1,500	\$4,500.00	\$850.00	\$2,550.00
122	<u> </u>	6	EA	\$2,500	\$15,000.00	\$4,100.00	\$24,600.00
123	•	300	LF	\$45	\$13,500.00	\$30.00	\$9,000.00
124		75	LF	\$65	\$4,875.00	\$35.00	\$2,625.00
125	48" Manhole	2	EA	\$4,500	\$9,000.00	\$5,500.00	\$11,000.00
126	Street Demolition and Reconstruction	9,110	SY	\$50	\$455,500.00	\$56.00	\$510,160.00
l l	Type A Trench Restoration	1,330	LF	\$60	\$79,800.00	\$45.00	\$59,850.00
128		60	LF	\$40	\$2,400.00	\$38.00	\$2,280.00
129		65	LF	\$20	\$1,300.00	\$38.50 \$170.00	\$2,502.50 \$9,350.00
130		55	SY SY	\$100 \$25	\$5,500.00 \$2,375.00	\$170.00	\$1,425.00
131		95 155	SY	\$65	\$10,075.00	\$62.00	\$9,610.00
133	· · · · · · · · · · · · · · · · · · ·	35	SY	\$75	\$2,625.00	\$119.00	\$4,165.00
134	•	1,225	LF	\$15	\$18,375.00	\$5.00	\$6,125.00
135		1,725	LF	\$25	\$43,125.00	\$28.00	\$48,300.00
136		35	SY	\$50	\$1,750.00	\$130.00	\$4,550.00
137		17	EA	\$1,200	\$20,400.00	\$500.00	\$8,500.00
138	Remove and Relocate Sign	7	EA	\$250	\$1,750.00	\$750.00	\$5,250.00
139	New Signs	12	EA	\$750	\$9,000.00	\$850.00	\$10,200.00
140	•	1	LSM	\$2,500	\$2,500.00	\$1,850.00	\$1,850.00
141		1	LSM	\$3,500	\$3,500.00	\$26,750.00	\$26,750.00 \$3,600.00
142		1	LSM	\$2,500	\$2,500.00	\$3,600.00	242.50
	Subtotal: Schedule 1				175.00		
201		1	LSM	\$15,000	\$15,000.00 \$11,875.00	\$10,000.00 \$10.00	\$10,000.00 \$4,750.00
202		475 460	SY LF	\$25 \$15	\$6,900.00	\$8.00	\$3,680.00
203		700	SY	\$65	\$45,500.00	\$62.00	\$43,400.00
204	· ·	530	LF	\$25	\$13,250.00	\$80.00	\$42,400.00
206		15	SY	\$75	\$1,125.00	\$130.00	\$1,950.00
207	** * *	1	EA	\$2,500	\$2,500.00	\$3,500.00	\$3,500.00
208	·	15	LF	\$45	\$675.00	\$120.00	\$1,800.00
209	3" Thick Asphalt Paving & Patching - Type B 64-22	325	SY	. \$35	\$11,375.00	\$25.00	\$8,125.00
210	Cast Iron Truncated Domes	24	EA	\$1,200	\$28,800.00	\$500.00	\$12,000.00
	Remove and Reset Sign	5	EA	\$250	\$1,250.00	\$750.00	\$3,750.00
	? Traffic Control	1	LSM	\$3,500	\$3,500.00	\$2,500.00	\$2,500.00
	Sod, Overseed & Fertilize	1	LSM	\$10,000	\$10,000.00 \$11,250.00	\$4,750.00 \$850.00	\$4,750.00 \$12,750.00
	New Crosswalk Signs	15	EA LSM	\$750 \$2,500	\$2,500.00	\$5,500.00	\$5,500.00
215		1	LOW		500.00		855.00
	Subtotal: Schedule 2		1014		\$16,400.00	\$8,000.00	\$8,000.00
301		. 1	LSM	\$16,400 \$25	\$16,400.00	\$8,000.00	\$12,080.00
	Sidewalk Removal	1,510 1,535	SY SY	\$25 \$65	\$99,775.00	\$62.00	\$95,170.00
	Concrete Sidewalk (4" Thickness) Concrete Drive Approach (6" Thickness)	1,535 230	SY	\$75	\$17,250.00	\$80.00	\$18,400.00
	5 3" Thick Asphalt Paving & Patching - Type B 64-22	35	SY	\$35	\$1,225.00	\$42.50	\$1,487.50
306		1	LSM	\$2,200	\$2,200.00	\$1,500.00	\$1,500.00
307		1_	LSM	\$6,000	\$6,000.00	\$10,050.00	\$10,050.00
	Subtotal: Schedule 3			\$180	600.00	\$146,	687.50
	Total				,275.00	\$1,288	,785.00
1	i viai			7.,02			

bids received and opened on May 20, 2015 for construction of the vision beginning project to the vision beginning to the visio

132ZBPE AT A LICENSE OF THE PARTY OF THE PAR



NOTICE OF AWARD

Date of Issuance:

Owner:

City of Laurel, Montana

Owner's Contract No.:

Engineer:

Great West Engineering, Inc.

Engineer's Project No.:

2-07128 TO 34

Project:

2015 Water & Street Rehabilitation

Contract Name:

Bidder:

Wilson Bros. Construction, Inc.

Bidder's Address: P.O. Box 636, Cowley, WY 82420

TO BIDDER:

You are notified that Owner has accepted your Bid dated May 20, 2015 for the above Contract, and that you are the Successful Bidder and are awarded a Contract for:

Schedules 1, 2 and 3 of the 2015 Water and Street Rehabilitation Project.

The Contract Price of the awarded Contract is: \$ 1,288,785.00 based on unit prices bid.

[8] unexecuted counterparts of the Agreement accompany this Notice of Award, and one copy of the Contract Documents accompanies this Notice of Award, or has been transmitted or made available to Bidder electronically.

2 a set of the Drawings will be delivered separately from the other Contract Documents.

You must comply with the following conditions precedent within 15 days of the date of receipt of this Notice of Award:

- 1. Deliver to Owner 8 counterparts of the Agreement, fully executed by Bidder.
- 2. Deliver with the executed Agreement(s) the Contract security [e.g., performance and payment bonds] and insurance documentation as specified in the Instructions to Bidders and General Conditions, Articles 2 and 6.
- 3. Other conditions precedent (if any):

Failure to comply with these conditions within the time specified will entitle Owner to consider you in default, annul this Notice of Award, and declare your Bid security forfeited.

Within ten days after you comply with the above conditions, Owner will return to you one fully executed counterpart of the Agreement, together with any additional copies of the Contract Documents as indicated in Paragraph 2.02 of the General Conditions.

City of Laurel, Montana Owner: For Major Macp Authorized Signátúre By: Mark A. Mace Title: Mayor Copy: Engineer

EJCDC° C-510, Notice of Award. Prepared and published 2013 by the Engineers Joint Contract Documents Committee.

Page 1 of 1



NOTICE TO PROCEED

Owner:

City of Laurel, Montana

Owner's Contract No.:

Contractor:

Wilson Bros. Construction, Inc.

Contractor's Project No.:

Engineer:

Great West Engineering, Inc.

Engineer's Project No.:

2-07128 TO 34

Project:

2015 Water & Street Rehabilitation

Contract Name:

Effective Date of Contract:

TO CONTRACTOR:

Owner hereby notifies Contractor that the Contract Times under the above Contract will commence to run on June 15, 2015. [see Paragraph 4.01 of the General Conditions]

On that date, Contractor shall start performing its obligations under the Contract Documents. No Work shall be done at the Site prior to such date. In accordance with the Agreement, the date of Substantial Completion is <u>September 13, 2015</u>, and the date of readiness for final payment is <u>September 27, 2015</u> or [the number of days to achieve Substantial Completion is <u>90</u>, and the number of days to achieve readiness for final payment is <u>14</u>].

Contractor must comply with SP-22, which states in respective part:

All work including paving on Eighth Street between First Avenue and Wyoming Avenue must be completed by August 15, 2015.

Owner:	City of Laurel, Montana
By:	Authorized Signature Mark & Mark
Title: Date Issued:	Mayor 06/16/2015

Copy: Engineer